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. Listing Outcomes Using Two-way tables  .
When a probability situation has TWO things

Examples:

 2 Dice,    2 spinners,    spinning a spinner twice,    Rolling 10 sided die & a 6 sided die

The theoretical probabilities can be found using a table

Game 1

Roll 2 six sided dice and add the numbers. If the total is even player ‘A’ wins, otherwise player ‘B’ wins.  Is the game fair?

Game 2

Roll 2 six sided dice and multiply the numbers. If the total is more than 13 player ‘A’ wins, otherwise player ‘B’ wins.  Is the game fair?

Horse race? 

 Jail Break?

. How many outcomes? .
How many outcomes when you:

Flip 1 coin?



Roll 1 die?

Flip 2 coins?



Roll 2 dice?
Flip 3 coins?



Roll 3 dice? 



Spin the spinner once?
Flip 4coins?



Roll 4 dice? 



Spin the spinner twice?

Flip 5 coins?



Roll 5 dice? 



Spin the spinner three times?
Flip ‘n’ coins?


Roll ‘d’ dice? 



Spin the spinner ‘s’ times?

. How many outcomes? .
If equally likely outcomes then systematically list the outcomes

(eg rolling a dice, flipping 3 coins)  

If two events occurring then make a two way table

(eg rolling two dice and adding the numbers, two spins on a spinner


If two events with unequal probabilities try to adjust the table

If the list is long look for patterns

(eg If you rolled 3 six sided dice, what’s the chance of a pair the same?)
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